YPTSe2

SoftBank r74 > 2—71v72022
SHAEE £5RILEEHFFER

NRTYMR—ILBRFIERS

pafEiser: RRATE Ad—F
H&K%: No. 133 B F2[E 8k
=B
B B 2022(ROH)ZE12825H (H) HIL—F—7. B B
- . N ° > [=] = xr
BAsLESRA: 14:01 £ TB5RE: 15:40 7oy —: TR . HEE Eih
10 -1st- 22
19 -2nd- 18
Eﬁﬂﬂi o 11 -3 16 O -'-%I"r'ﬂl%
L 22 -4t 17 i E
62 713
3 -0T2-
(&) (#HA)
-0T3-
RiIERBEEFRK
. 3P FG 2P FG FT PF REBOUNDS
No. | S EF 4 PTS X W X W N T TorTor T7or] TO | AS | sT | BS MIN
ANES:ER 7 1 5 2 4 0 0 2 0 1 1 3 1 2 0 18:36
5| | —R Fy1)—BhE - - - - - - - - - - - - - - - DNP
6| |4 K 11 2 6 1 2 3 3 4 3 3 6 3 1 2 0 37:21
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